Name:  ____________________________

Class: ______

(D)
A house contractor needs shingles to build a new roof.  He wants to hire the company that will give him the lowest price.  The two options are shown below:

Everyday Roofing:  charges a base rate of $80 plus $2 per shingle

Quality Concrete:  charges a base rate of $60 plus $3 per shingle

1)  Write the rate of change (coefficient) for Everyday Roofing and Quality Concrete?   Y-Intercept?

Everyday Roofing (Coefficient):
_________

Y-Intercept: _________

Quality Concrete (Coefficient):  _________

Y-Intercept:  _________
2)  What do the above (coefficient/y-intercept) mean in relation to these Options?
Co-Efficient:  ______________________     Y-Intercept:  _____________________
3)  Write a linear equation in y = mx + b for Everyday Roofing and Quality Concrete.

Everyday Roofing:

Quality Concrete:
4)  When would both companies cost the same?   (Use back if needed.)
5)  When would it be cheaper to use the Everyday Roofing?  

6)  When would it be cheaper to use the Quality Concrete?
